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Question No. 1

& a5 a7 e g &2

c D
)16 )

How many triangles are there in the given figure?

c D
)16 )

Answer Key : D

Question No. 2
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39 W H, U FUq F A fasnd Ru aw §1 37 w6 7 g o arfes v & g9 s9geT &

HYeT:

3FiGaRt @ 27 & 32 af i g F Far ST AR Brarie g aRwl

s
. 27 WS ¥ FA 3G F AR FotiareT A& S

II. 32 9% & 3fF I F =aFa gar 7 B &
A)Fad sy | 3uged B B)aT @ fasey | 3R & & || 3ugFd Bl

C)dae forssy || 3uged & D)arst fsey | 3R 1| 39ged g

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Candidates should be young, energetic and dynamic in the age group of 27 to 32 years.

Conclusions:
I. Persons below 27 years are not energetic.
Il. Persons above 32 years are not young.

A)Only conclusion | follows B)Neither conclusion | nor Il follows
C)Only conclusion Il follows D)Both conclusions | and Il follow
Answer Key : B Your Response : B (Correct)

Question No. 3

e 'ROPE' &Y 6821 for@r Sirar &, 3T 'CHAIR' & 73456 for@r Sirar &, o 'CRAPE' &I i for@r siRem?
A)77246 B)76421
C)77123 D)73456

If 'ROPE' is coded as 6821 and 'CHAIR' is coded as 73456, then what will be the code for 'CRAPE'?

A)77246 B)76421
C)77123 D)73456
Answer Key : B Your Response : B (Correct)

Question No. 4
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39 W #, U YA F A fasnd Ru aw §1 37 w6 7 9o o arfes v & a9 39geT &

HYeT:

TF gferar o I § 3R o & gt udF anee e AT v g s §

Ay

. & Al B I gfAar s T B

Il. & At A I gfaar g ek

At sy | 3R 11 39ged gl B)&ae fashy | 3uged Bl
Cyar ar fashy | ar ar 1l 39ged g D)Fae sy Il 39ged &

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
This world is neither good nor evil; each man manufactures a world for himself.

Conclusions:
I. Some people find this world good.
Il. Some people find this world bad.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Either conclusion | or |l follows D)Only conclusion Il follows
Answer Key : A Your Response : Not Answered

Question No. 5
W AT 0.004 x 0.5
A)0.02 B)2
C)0.2 D)0.002

Simplify: 0.004 x 0.5

A)0.02 B)2
C)0.2 D)0.002
Answer Key : D Your Response : D (Correct)

Question No. 6
tafy Tt & GEce GaRT 3cdeet Eafey FY GeRIgiod T FEAr 87
AR B)ale
SSC AdeaR47 D)sfaeafer Engineers Addaa47
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Repetition of sound produced by reflection of sound waves is called-

A)Noise B)Note
C)Double D)Echo
Answer Key : D Your Response : D (Correct)

Question No. 7

T FHAONT RUMAE F UK 16 ghE Rewol arer wh o §1 SEH OAE ST 17 59 §1 SEH SR

a1 AT ffAw|
A)12 B)15
C)30 D)25

The base of a right pyramid is a square with diagonal 16 units. Its slant edge is 17 units. What is its vertical

height?

A)12 B)15

C)30 D)25

Answer Key : B Your Response : Not Answered

Question No. 8

IR F 3% GATGOT & AT el & WY F FAT Fgl AT &7

A)SHTITST B)gaiteilst
C)FarsHeTdToiT D)TserHIdToiT

The study of relationship of animals with their environment is called-

A)Ecology B)Ethology
C)Climatology D)Entomology
Answer Key : A Your Response : A (Correct)

Question No. 9

o9 HR Fgobe e, dle urg & @y AR wwar & O dir awe aig # Ao @ar ¥ %

ffaf@a # & *ia & ARt 82
A)3rEesT AR B)&aate 3rfAfshar
C)tsher farumae 3rfafhar D)efafaeamdsr ifafsrar

When copper sulphate solution reacts with iron metal, copper metal is formed. Which of the following
reactions is this?

A)Decomposition reaction B)Combination reaction
C)Single displacement reaction D)Double displacement reaction
Answer Key : C Your Response : A (Wrong)

Question No. 10

TEAA -2, AR F T IHUT U6 R e (DRDO) ZarT fwfda o gl
A)EaT & gaT H AR et drell A@E B)&edh dofel dTell ITel
C)#ATa g oIsTeh AT D)ver fAaEa &
Rustom-2 is a/an developed by India's Defence Research and Development Organisation
(DRDO).
A)Air-to-Air missile B)Light weight vehicle

SSC M%%Zd Combat Aerial Vehicle D)Anti-missile tank Engineers Addaa47
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Answer Key : C Your Response : Not Answered

Question No. 11

& 3Rk ar e &1 ufeufa & goe ¥ 9ASA §l

Aydta B) TelleAT

C)9ahrer Fair D)fdega

The Sun and the stars glow because of the presence of in them.
A)Gases B)Plasma

C)Light energy D)Electricity

Answer Key : B Your Response : A (Wrong)

Question No. 12

IHRADS 7 NSNS F Rgid Hr @ F 9 = [AURT Far ar?

A)gy I grgar B)IST & #Hhe # @A I el
C)STereT & f3amget &I 3raurom D)Ueigsel & f3airget T raerom

What did Archimedes determine after discovering the Archimedes principle?

A)Purity of milk B)Purity of gold in the king's crown
C)Design concept of ship D)Design concept of submarine
Answer Key : B Your Response : C (Wrong)

Question No. 13
ISRO & 2019 # faf@a & ¥ P deT & AT 3iaReT 33 $g TRT fFar &2
A) TS B)deeTs
C)H=s D)gexrsTe

In which of the following cities has ISRO launched Human Space Flight Centre in 2019?

A)Bengaluru B)Chennai
C)Mumbai D)Hyderabad
Answer Key : A Your Response : Not Answered

Question No. 14

fArfaf@d Sl & uffyd 3R FFg F AT H

VA, ND, (.), DP, BY
A)TU B)SE
C)HI D)NR

Find the missing group of alphabets in the following series.

VA, ND, (...), DP, BY

A)TU B)SE
C)HI D)NR
Answer Key : C Your Response : Not Answered i
SSC Adda247 Engineers Addaa47
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faade ik ARwa Fa ard Sgenfla g & e €2
A)TreTedT B)e#eT 3R Qa
C)31usATd AR TR D)EER

Amindivi and Minicoy are parts of which Indian Union Territory?

A)Lakshadweep B)Daman and Diu
C)Andaman and Nicobar D)Chandigarh
Answer Key : A Your Response : Not Answered

Question No. 16

ffaf@d et @ e § 93 3R Y Qe a1e wesr &1 3w &)

S A A B C,D,EFGINHEARTF Ve gaer AT R g MR g FA I & A G
¥ g% 3N gAY T W ST § St B & a1 3N WY A | ST §1 D, F & a5 3R g@¥ U | ST §
NGIRAFITH TR C, BATE F Fo1ed 7 AT a7 &1

B & &I a5 3R FiaT dor 87
AH B)D
C)E D)C

Read the following information carefully and answer the question given below.
Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table for a meeting facing center. A is
second to the right of G who is third to the right of B. D is second to the left of F who sits between G and A. C

is not a neighbour of B or E.

Who is to the immediate left of B?

A)H B)D
C)E D)C
Answer Key : A Your Response : A (Correct)

Question No. 17

10ar gRae IR veieh R aeee "3BT &7 2018" fFe e & Mo fmar s/ ar?
A) TR B)f&elr
C)deTs B)E;CES

In which city was the 10th Biennial International Exhibition and Conference “India Chem 2018 held?

A)Kolkata B)Delhi
C)Chennai D)Mumbai
Answer Key : D Your Response : Not Answered

Question No. 18

PrfafRd & ¥ R 39T veRigage (Alas) 99 7 R Sar ¥?

A)AAATT B) vt
C)wrdstier D)sgater
SSC Adda247 Engineers Addaa47

Which of the following is used in alcoholic drinks?
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A)Methanol B)Ethanol
C)Propanol D)Butanol

Answer Key : B Your Response : B (Correct)

Question No. 19

3 W #, & F&l F ag ar frsnd o 1w §) 37 fAswd (6f) g o arffer w7 & et sugE &

CoH
1) Wt Get, AHS &

2) FI§ AAGCAT, dleeT et gl

oS

|. S Fel, et TET B

II. w3 A, B §

A)dhad fashy | 3uged gl B)aT af fasehy | =7 € Il 3uged &
C)Faa forsay || 3uged & D)arst fasey | 3R 11 39ged

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All flowers are candles.
2) No candle is lantern.

Conclusions:
I. No flower is lantern.
Il. All candles are flowers.

A)Only conclusion | follows B)Neither conclusion | nor Il follows
C)Only conclusion Il follows D)Both conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 20
farT = # @ *le7 A1 g THER @R T, TR FAT 9=w 3R ST @ ar?
A) -TTTET B)&raRe &
C)3f¥ 3ma W & D)#HARSTeT T

Which of the following taxes was levied, collected and retained by the Central Government?
A)Land revenues B)Corporate tax

SSC Agltda47agriculture income D)Entertainment tax Engineers Addaa47

Answer Key : B Your Response : Not Answered
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Question No. 21

Af9gs fir WAOashar Fr 8?2
A) TS TATIH B) SgIRATI
C)gfa waATIS D) oA

What is the atomicity of Helium?

A)Mono atomic B)Polyatomic
C)Di atomic D)Tri atomic
Answer Key : A Your Response : A (Correct)

Question No. 22
@I’WH@B#H#EZOOW@'E\T#WW%,W#WQTW%FITST'QHT%,WE@TWW%
#r gifer gt ¥ g Sfoera g1f ar amer w9 fifsol
A)1% aTHT B)2% wTH
C)2% gIfer D)1% grfer

Two identical items are sold for Rs.200 each, with 10% gain on one but 10% loss on the other. What is the net
percentage loss or gain?

A)1% gain B)2% gain
C)2% loss D)1% loss
Answer Key : D Your Response : A (Wrong)

Question No. 23
TH Soh & fhT aTv gdfemor #, Ig 9Rr T F 50% WRT A A TAER 9T 9ed &, 40% 9T B A#E
AR 99 Ued §, 3 20% 7 o TR 99 A 9ed § 3R o & §AER 97 B ged €1 I A 3R B, Q=
HAMR 99 gt alal gfaradl 1 @&Ar 500 §, af fraer @it sr gderor fBxar s/ ar?
A)7000 B)3000
C)4500 D)5000

In a survey conducted in a locality, it was found that 50% read newspaper A, 40% read newspaper B, and 20
% read neither A nor B. If the number of persons who read both A and B is 500, then how many persons were

surveyed?

A)7000 B)3000

C)4500 D)5000

Answer Key : D Your Response : Not Answered

Question No. 24

et & & #la @1, AT F O # Bl R a1 § v gt e #F @I arer w6 R

A)3IrTH B)aReT ¢ed
C)3rrgiea D)3ad el

Which of the following is the time taken for one complete oscillation of a sound wave in the density of the

medium?
A)Amplitude B)Wavelength
C)Frequency D)Time period
Answer Key : D Your Response : D (Correct)
SSC Adda247 Question No. 25 Engineers Addaa47
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Y dea F1 WAI] FHiw, AR F Al AT e & e g

A)serFeiar 3R drelfar B)=ggrat

C)gerereiat D)verat

Atomic number of an element is equal to the number of in the nucleus.
A)Electrons and protons B)Neutrons

C)Electron D)Protons

Answer Key : D Your Response : D (Correct)

Question No. 26

ofe #F$ TR 20 st F 4 = 2 S § A TR s fr [ AT

e
A) B)
15% 20%
)] D)
1
13-% o
3 10%

If a sum becomes 4 times in 20 years what is the rate of simple interest

given?
A) B)
15% 20%
C) D)
1,
13E "0 10%
Answer Key : A Your Response : A (Correct)

Question No. 27

faT & @ Fla a5 T R v d&e w1 7@ a@F T qF Fem?

FDA : MKH = QOL : ?
AYXSV B)SVX

C)QuUZz D)XVS )
SSC Aéda247 Engineers Addaa47
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Which of the following will best complete the relationship given below?

FDA:MKH: QOL:?

A)XSV B)SVX
c)Quz D)XVS
Answer Key : D Your Response : D (Correct)

Question No. 28
S QR I T Tg SIRCAT Featol Fher 7
A)TY. &. FeTair B)Jerdilerd sorTe
C)deleT Hest D)sReter T8

Who was the first Indian footballer to receive the Arjuna Award?

A)P.K. Bannerjee B)Tulsidas Balaram
C)Sailen Manna D)Jarnail Singh
Answer Key : A Your Response : Not Answered

Question No. 29
3 ¥ [enfaiT e arelr 3 3l Fir frdelr =T &2
A)98 B)100
C)97 D)99

How many 3 digit numbers are divisible by 3?

A)98 B)100
C)97 D)99
Answer Key : This Question is dropped and

Your Response : B
will not be consider during the evaluation

Question No. 30
HaTer /G F G et W A7 Fr AT g3w a7
A)SUTse TSATANASAT B)ure R msafdaarsac
C)fAuser AT D)AIf3T#d 3Eadadasde

Gas leaked during Bhopal tragedy was-

A)Ethyl isothiocyanate B)Potassium isothiocyanate
C)Methyl isocyanate D)Sodium isothiocyanate
Answer Key : C Your Response : C (Correct)

Question No. 31

ST I AT e & 7 ufdg 92
AT B)arfecT
C)&afa D)fersrr

Raja Ravi Varma was famous in the field of-

SSC Adglaga7 B)Literature Engineers Addaa47
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C)Music D)Painting

Answer Key : D Your Response : Not Answered

Question No. 32
TF {d ARG RN F RAeded AR sreaae F fav RfFciT-seEt (@fer-eere) @ w=r 82
A)rar Afzear B)fagervor
C)3fterercar D)3frercdr

What is the medico-legal name given to the dissection and study of a dead human body?

A)Causa medico B)Analysis
C)Autolepsy D)Autopsy
Answer Key : D Your Response : D (Correct)

Question No. 33

Foft &1 qot X

0.7, 0.75, 0.85, 1, (..)
A)1.2 B)1.6
C)1.8 D)1.1

Complete the series.

0.7, 0.75, 0.85, 1, (...)

A)1.2 B)1.6
C)1.8 D)1.1
Answer Key : A Your Response : A (Correct)

Question No. 34

feafaf@a & @ Fia & g acar fr e FRol F Alg Tad g Uig 87
A)vegfafaas B)elfag#

N

C)ersefaas D)#Fe=A s

Which of the following metals is the lightest in the periodic table of elements?

A)Aluminium B)Lithium
C)Titanium D)Magnesium
Answer Key : B Your Response : A (Wrong)

Question No. 35

uﬁ'X-%ﬂ, ar x*+% FT AT AT fifaw
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123 129

119 14

. s 1
If x % =3, then find the value of x™ +—.
X

A) B)
123 129
C) D)
119 14
Answer Key : C Your Response : C (Correct)

Question No. 36

AT FT T A & fAT RFvedt & & Riegh &1 @@ Fa7 T+

18 - 5 x50 = 40
A)_’ X, = B)X, =, -
C)=, -, x D)x, -, =

Choose the correct order of signs from the options so as to make the equation correct.

18 -5x50 =40

A)-, X, = B)x, =, -

C)=, -, x D)x, -, =

Answer Key : D Your Response : D (Correct)

Question No. 37

e FEaHR @R AR F FER Bz §evde aRAeET gF fRar =

A B)IH=T f&g -
SSC Agiz%%f; . Engineers Adda47
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The Fiber Grid internet system was introduced by which Chief Minister in India?

A)Manohar Parrikar B)Raman Singh
C)Chandrababu Naidu D)Arvind Kejriwal
Answer Key : C Your Response : Not Answered

Question No. 38

HRA T YgelT AT 3T FieT AT AUT?
A)TSH Fide I 3T B)&Tegl IS 3Tt
C)&TiET IS 36T D)X I8 3¢aTeT

Which was India's first National Park?

A)Jim Corbett National Park B)Kanha National Park
C)Kaziranga National Park D)Gir National Park
Answer Key : A Your Response : Not Answered

Question No. 39

AT R #F Reged 37 Faf v adr &2
A)TE & MY B)3rid #
C)Teligl(spleen) & 9r& D)ARETS® & dof W

Where is the pituitary gland located in the human body?

A)On the top of kidneys B)In the intestine
C)Near the spleen D)At the base of the brain
Answer Key : D Your Response : D (Correct)

Question No. 40

24 W Far$ 3R 1 A A aT WE JoiT F AT F GgFT WA F I;NIAT 96 Bl FHAY iRk wd

g B1r &1 At 7 hifav)
A)7 @Y B)5 VT
C)4 T D)3 {HT

Volume of material used in constructing a hollow cylinder of height 24 cm and thickness 1 cm is 961. What is
the sum of the internal and external radii?

A)7 cm B)5 cm
C) cm D)3 cm
Answer Key : C Your Response : C (Correct)

Question No. 41

Rw v et & & 3rera & g+
A)OQS B)WYZ
C)PRT D)HJL

Find the ODD one out from the given options.

A)OQS B)WYZ
C)PRT D)HJL
Answer Key : B Your Response : B (Correct)
SSC Adda247 Question No. 42 Engineers Addaa47
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g1 ¥ FlT A1 gl AT W F AT A AET B FERT v §2
AT B) SEeree
C)SRratAfe D)ggforsT

Which hormone regulates the amount of sugar in human blood?

A)Estrogen B)Testoterone
C)Parathormone D)Insulin
Answer Key : D Your Response : D (Correct)

Question No. 43
X3 + 5x2 - 2x - 24 H UF LIS X = 2 Bl I LASF AT AT
A)-3, -4 B)-3, 5
C)-2, -3 D)3, 4

X3 + 5x2 - 2x - 24 has a zero at x = 2 . Find the other zeros.

A)-3, -4 B)-3, 5
C)-2, -3 D)3, 4
Answer Key : A Your Response : Not Answered

Question No. 44
Ifg tan a = 1/2, tan B = 1/3 @ a + B FH A AT AT
A)0° B)45°
C)90° D)135°

If tan a = 1/2, tan B = 1/3, then find a + B.

A)0° B)45°
C)90° D)135°
Answer Key : B Your Response : Not Answered

Question No. 45

'SP TATAG' T YTeld a7 dlel Ygel Tdd i I?
A)HgTcAT el B)afde deerst Id
C)TRER TolHsS Tt D)faataT I

Who was the first person to observe 'Individual Satyagraha'?

A)Mahatma Gandhi B)Govind Ballabh Pant
C)Sardar Vallabhbhai Patel D)Vinoba Bhave
Answer Key : D Your Response : Not Answered

Question No. 46
Aot & SfRF [AYIor & v Rfa@a F I e 39T Far S A6 82
A B)FcgH
C)degfear D)D.D. T

Which of the following can be used for biological control of mosquitoes?
A)Qil B)Ointments

SSC Aderapsr D)D.D. T Engineers Addaa47
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Question No. 47

6 TAT 3T aTel AN FT TG AT HorT?

1083 ®Hr 64./3 TAT

54./3 AP 72./3 ®HEP

Whatis the area of a regular hexagonof side 6 cm?

A) B)
108+/3 em? 64~/3 cm?
C) D)
54+f3 cm® 7243 cm?
Answer Key : C Your Response : Not Answered

Question No. 48
P, Q, R 3R S, forelr & 1 20 et & qU & @hd &1 G P 3 Q et 5@ 50 feat & qur X @ehet €
3R R e 3 60 el 7 QX T FFhar §, A S FA 3 frcer &t ¥ Q@ X Fewver 87
A)60 B)75
C)65 D)90

P, Q, R and S can do a piece of work in 20 days. If P and Q together can do it in 50 days, and R alone in 60
days, then in how many days can S alone do it?

A)60 B)75
C)65 D)90
Answer Key : B Your Response : B (Correct)

Question No. 49
I U TEAT 234 ¥ fanfaa i &, o Auter 36 FUar 1 39 & A 13 ¥ RAST WS W ANGA T
e
B)11

A)6 .
SSC Agga247 D)10 Engineers Addaa47
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A number when divided by 234 gives the remainder 36. What will be the remainder when it is divided by 13?

A)6 B)11
C)9 D)10
Answer Key : D Your Response : D (Correct)

Question No. 50
A 3R B T 31T 4 : 3 ¥ 6 a¥ are, A Fr 31 26 a¥ gl B A oAt Iy frcelr 82
A)12 B)18
C)15 D)9

A's age : B's age is 4 : 3. After 6 years, A will be 26 years. What is B's present age?

A)12 B)18
C)15 D)9
Answer Key : C Your Response : C (Correct)

Question No. 51
et gfad #1 @ Shas are g IR &g Rest il 47
A)AETT T B) #HaArarer I
C)9#=ie D)HET 38T

Who was the first Indian bodybuilder to win the Mr.Universe title?

A)Moloy Roy B)Monotosh Roy
C)Prem Chand D)Manohar Aich
Answer Key : B Your Response : Not Answered

Question No. 52
AeE R # 9 S arelr g vwATT ORft Fler A B, S At RARE o e A Al 87
INEIL B)gfafaRes
C)3rfradar D)RfRRES

Which is the only muscle in the human body that is NOT attached at both the ends?

A)Tongue B)Biceps
C)Adductor D)Triceps
Answer Key : A Your Response : Not Answered

Question No. 53
AT FT F BFw 7097 F 9o eafey F AR FOT gar 87
AR B)&uTarfer(Pinna)
C)&gur df¥sr(Auditory nerve) D)&uTed! fBreal(Tympanic membrane)

Which part of the human ear vibrates according to the sound received?

A)Hammer B)Pinna
C)Auditory nerve D)Tympanic membrane
Answer Key : D Your Response : Not Answered

Question No. 54

9 i dtug aig s &ar § ar 38 F41 F°gr ST 82

SSC AOHHIHT B3 Engineers Addag47
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SSC AR AEr =  smiarr = ot

When a three quarter moon is visible, what is it called?

A)Half moon B)Crescent moon
C)Full moon D)Gibbous moon
Answer Key : D Your Response : B (Wrong)

Question No. 55

gfe frdY H&aT #1 1/7, G961 ¥ USRT SGr &, oY IRUmA &A1 & 30 FH @ar &1 §Er A9 Sl
A)120 B)140
C)210 D)105

If 1/7 of a number is subtracted from the number, the result is 30 less than the number. Find the number.

A)120 B)140
C)210 D)105
Answer Key : C Your Response : C (Correct)

Question No. 56

1 1 1 1 1
b+ o+

+ + +
1x2 2x3 3x4 4x5 5x%6 9x10

FT AF AT HiTaT]

A) B)
9/10 5/11
C) D)
2/5 1/10
. 1 1 1 1 1 1
Findthe valueof —+—+-—+—+—+...+

1x2 2x3 3x4d 4x5 5x6 9x10

A) B)
9/10 5/11
0) D)
2/5 1/10
Answer Key : A Your Response : D (Wrong)

Question No. 57
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A)9 B)13
C)7 D)11

Find the ODD one out from the given options.

A)9 B)13
C)7 D)11
Answer Key : A Your Response : A (Correct)

Question No. 58
(2x32x5x7),(22x3x52x7) 3 (2x3x5x 7)F AHILCM) 7T o]
A)7200 B)8400
C)9000 D)6300

Find the LCM of (22 x 32 x 5 x 7), (22 x 3x 52 x 7)and (2 x 3 x 5 x 7).

A)7200 B)8400
C)9000 D)6300
Answer Key : D Your Response : D (Correct)

Question No. 59

s faRaa HTHTIT #, 'ITNIETAM' & 'INTIMATE' for@r sirar g1 38 HeATST # 'TREVNIETARBI' &t && foar

SAREm?
A)INVERTIBARTE B)INVERTIBRATE
C)INVERTIBRETA D)INVRETIBRATE

In a certain code, 'ITNIETAM' is coded as 'INTIMATE'. How will TREVNIETARBI' be coded?

A)INVERTIBARTE B)INVERTIBRATE
C)INVERTIBRETA D)INVRETIBRATE
Answer Key : B Your Response : B (Correct)

Question No. 60
30 ey & 799 F, A P H 9T Bed (7) F WE W
e % forw wafcasm s9geFa &

1441 49 | 36 | 25
5291196 ? | 42
961|256 121| 58

34

) D)

32
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Choose the altermative that best replaces the question mark(?) in the

given figure.
144 49 | 36 | 25
529(196| ? | 42
961|256 121| 58
A B
) ) 30
34
© o5
32
Answer Key : D Your Response : Not Answered

Question No. 61

39 Ueg oA A YA St A Ru 10 o\ & gA dey g

&9 ;9
A)fseelr : cerer B)HRAT : AT
C)STexX : #la D)gar : T

Choose the pair in which the words show the same relationship as in the pair given below.

Cholera : Water

A)Cat : Plague B)Malaria : Mosquito
C)Poison : Death D)Medicine : Disease
Answer Key : B Your Response : B (Correct)

Question No. 62

fRw arw Sofr & s FEar A g
12, 18, 27, 42, 62, 87

A)18 B)27
C)42 D)87

Find the wrong number in the given series.

SSC Adda247 Engineers Addaa47
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A)18 B)27
C)42 D)87
Answer Key : A Your Response : D (Wrong)

Question No. 63

Afaf@a & @ #id 1 mA fr A9 F e §?
A)103 A B)10% A
C)106A D)106 A

Which of the following is equal to a measurement of 1 mA?

A)103 A B)10° A
C)10°A D)106 A
Answer Key : A Your Response : A (Correct)

Question No. 64
P, Q 3R R fel F& @ FA: 15, 20 3R 30 Rl A @ N Fhd &1 SheR FH N STeql TWeH Hel &
AT 39 A Pl af A FIH W @A FT hAdT FAT §1 S8 & HleT G [Aohed T 31507 87
A)ar a@r PQ ar QR B)QR
C)RP D)PQ

P, Q and R can do a work in 15, 20 and 30 days respectively. The contractor decides to put any two of them
on the job so as to finish the work earlier. Which of these choices is the best?

A)Either PQ or QR B)QR
C)RP D)PQ
Answer Key : D Your Response : D (Correct)

Question No. 65
P 3R Q, 120 #leX & T FeadpR AR & IRT 3R FAE &g § A e 7 20 Aev RAee ik 12 dev
fRete &7 arer & U AT s g A §1 F e Rigait w @Aehe
A)2 B)1
C)4 D)3

Around a circular track of 120 m, P and Q start running simultaneously from the same point in the same
direction at 20 m/min and 12 m/min. At how many points will they meet?

A)2 B)1
C)4 D)3
Answer Key : A Your Response : B (Wrong)

Question No. 66
sin(180° - 0) cos (90° - ) - cos (180° - 6) sin (90° - 6) & A AT HIfATI
A)cos 6 B)1
C)tan 6 D)0

Find the value of sin(180° - 8) cos (90° - 8) - cos (180° - 8) sin (90° - 8).

A)cos 0 B)1
C)tan 0 D)0
Answer Key : B Your Response : B (Correct) i
SSC Adda247 Engineers Addaa47
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AIEH TH gl
A)Fas B)STeTaR
C)3radeh Hher D)dier

Mushroom is a/an-

A)Fungus B)Animal
C)Slime mould D)Plant
Answer Key : A Your Response : A (Correct)

Question No. 68

st #r sufeufa & T &= & v S &1 3uer BFar s gl
A)adar B) faerfae

C)aérT D)¥erT

lodine is used to test the presence of in food.

A)Fat B)Vitamin

C)Protein D)Starch

Answer Key : D Your Response : B (Wrong)

Question No. 69
3T Sear fRm A 3R 4 Rl gk ¥ iR a1 R A3 ol ¥ 2 Rl gew & a1, 97 o N s ¥
3R 5 el werch 1 @F Yoameh g & frw Rar & @ 82
A)cfaror gfegH B)3caR qfRa#H
C)3eek & D)aféror g

Anitha walks 4 km towards north direction and turns left. After reaching 2 km, she turns right and walks 5 km.
Which direction is she standing from the starting point?

A)South west B)North west
C)North east D)South east
Answer Key : B Your Response : B (Correct)

Question No. 70

egfd aier T WA fFE W AT Fear &2
A)aEq T IoTaCar B)a¥q & e
C)aeq =1 dv D)a¥q &I &l el & U Ggeord Tof

The amplitude of the sound wave depends on the-

A)Object's quality B)Object's material
C)Object's temperature D)Force with which an object is made to vibrate
Answer Key : D Your Response : Not Answered

Question No. 71

P, Q 3R R & 31 4: 7: 9 & 3ud & &1 8 a¥ Ugat, R 9 IY, Q Fi TiAT 3 F KW A| qA=T F

3T HY T AT ek 82
A)50 B)80
C)100 D)60
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Ages of P, Q and R are in the ratio 4 : 7 : 9. 8 years ago, the age of R was Q's present age. What is the sum
of their ages at present?

A)50 B)80
C)100 D)60
Answer Key : B Your Response : Not Answered

Question No. 72

& A9 #H AR F AT qdF S arer ggar el Reafaf@a d @ sl ar?
A) Tl AT B)dIue eMereT
C)etrAd i D)FReX 3T

Who among the following was the first cricketer to score a century for India in a test match?

A)Lala Amarnath B)Deepak Shodhan
C)Hanumant Singh D)Surinder Amarnath
Answer Key : A Your Response : A (Correct)

Question No. 73

afsar v A &, S F yenfad F B
A)TE B) s
C)sirg D)ATRETSH

Arthritis is a disease that affects the-

A)Kidneys B)Lungs
C)Joints D)Brain
Answer Key : C Your Response : C (Correct)

Question No. 74

RRw v et & & 3rera @ g+
A)159 B)177
C)121 D)153

Find the ODD one out from the given options.

A)159 B)177
C)121 D)153
Answer Key : C Your Response : C (Correct)

Question No. 75
4% 3R 6% & omer W R ag & TR et & @i A @ IR ©.3 §1 &Y Fhr et i 3wqar ger X
A)52 : 53 B)51 : 53
C)52 : 55 D)51 : 52

The cash difference between the selling prices of an article at a profit of 4% and 6% is Rs.3. Find the ratio of
the two selling prices.

A)52 : 53 B)51: 53
C)52:55 D)51: 52
Answer Key : A Your Response : A (Correct)

SSC Adda247 QuestionNo. 76 Engineers Addaa47
3 ol @I &HAT Aa Hiioe, e B gl 1 HAex 82


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*vex53k*_ga*YW1wLXlUdWNmQTdtTFBveTM4Q3VGUjl6QlJnVjdCQms5aXlkd1FiZ0JIdFFaY0d5ZTEzLVdkMkk1TElOUWwyclEyRFE.

A)1D B)2D
C)3D D)4D

What is the power of a lens whose focal length is 1 m?

A)1D B)2D
C)3D D)4D
Answer Key : A Your Response : B (Wrong)

Question No. 77
ar HEA¢ 4 : 5 & eI F §1 3T THA(LCM) 180 ¥ 3eThT AT FAIT RIS
A)81 B)90
C)70 D)72

Two numbers are in the ratio 4 : 5. Their LCM is 180. What is their sum?

A)81 B)90
C)70 D)72
Answer Key : A Your Response : Not Answered

Question No. 78

Soft &1 qot #XI

168, 151, 134, 117, (.
A)82 B)97
C)95 D)100

Complete the series.

168, 151, 134, 117, (...)

A)82 B)97
C)95 D)100
Answer Key : D Your Response : D (Correct)

Question No. 79

faf@a & & =i a1 &) 18 &7
A)KOH B)NH4OH
C)NaOH D)C,HsOH

Which of the following is NOT a base?
A)KOH B)NH,OH
C)NaOH D)C,H50H
SSC AadaRday Your Response : D (CorecE N iNeers Addaa4 7
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Question No. 80
e FfAT: sin (A + B) sin(A - B)
A)sin® A - sin® B B)cos® A - cos? B

C)sin? A + sin®? B D)cos 2A

Simplify: sin (A + B) sin(A - B)

A)sin? A - sin? B B)cos? A - cos? B
C)sin? A + sin?B D)cos 2A
Answer Key : A Your Response : A (Correct)

Question No. 81
Ffaf@a & ¥ FiT a1 ges afcaal #F &0 T JeT T 82
INGIEMECH B)FeiRifthel
C)gRar D)4rsir

Which of the following component imparts green colour to leaves?

A)Nitrogen B)Chlorophyll
C)Urea D)Water
Answer Key : B Your Response : B (Correct)

Question No. 82

SelfRiaT UIEsT & TS T T 87
A)CaCl, B)CaOCl,
C)CCly4 D)Ca(OH)2

What is the chemical formula of bleaching powder?

A)CaCly B)CaOCl,
C)CCly D)Ca(OH)
Answer Key : B Your Response : B (Correct)

Question No. 83
P 3R Q v& ary fAes el F #1 30 et F g & Fahad &1 Q 3R R @ @y Aot 38 3 7 24
&t % # ¥ §1 R 3R P & tF arr fAeew 3@ & #F @@ =& 7 20 R @@ 3 weh F w a@y
et 38 w3 B QU FA T fraa Rer s
A)25 B)8
C)15 D)16

P and Q together can complete some work in 30 days. Q and R together can do the same in 24 days. R and
P together will take 20 days to complete it. If they all work together, in how many days will the job get done?

A)25 B)8
C)15 D)16
Answer Key : D Your Response : B (Wrong)

Question No. 84
P 3R Q & & qq@ # 5: 13 & e[ # e BRaml Q o 6 #A a Iwh ol e o afy s
YT ST 25: 26 F AT F e AT &, A P A IR F fhc FHET d 39AT A 75 A7

A)18 FER B)12 A& )
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P and Q invested in a business in the ratio 5 : 13. Q withdrew his capital after 6 months. If they shared their
profit in the ratio 25 : 26, for how long was P's amount used?

A)18 months B)12 months
C)8 months D)15 months
Answer Key : D Your Response : D (Correct)

Question No. 85

Afaf@d Jeert # e § 9 3R Y Ru srv st &1 3w &)

3ms @3- A, B, C, D, E, F, G 3R H o ga@R A9 & IRt 3R Fifdegw g 35 §1 30 & ¥ #1% oW
Sgolqer, Afther ST 77ET for ¥t wer 3 &

AT i TG HA dTo SAfed & g% AN AW T W doT {1 A FT 5 TR s T At &1 E, H &
F B A AT TR C, T ARTF A IR AT T A s R s W gl A A AR T H
3T a1 JFG iz T I T MNAST Fiz TG W T IS gAY FS THG I AT AfFT F O
oI # A qoT 1 S AT 3 SIS FY TE T ¢ TE E F 9% 3N g T W 3T {1 A 05 T8
A ot safad darifas AR dicc i3 wHE e I At safdadl F THheH worer F dor ) dieew #is
qHE A drell cafed B & g8 3 R T W a1 §1 B 3fAEr sz gdg «g #ar g1 F, A & 8 T 7
& doT &1 G 39 AT F vaeA oI H A Yo7 § I 3T s A WG FaT ¢ decH q5 TG I aS
aafdd AR H & @i Faa & der 3 §1 e afaaat #r sifsr ik S 35 v §, § wwgm F A
T 7 85§

faf@d & ¥ 9 A & taeH g5 3T doT 872
A)D B)H
C)G D)B

Read the following information carefully and answer the question given below.

Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. Each one of them
likes different brands of air conditioner—Daikin, Samsung, Blue Star, Godrej, Onida, Panasonic, Voltas and
Whirlpool, but not necessarily in the same order.

A sits third to the right of the person who likes Whirlpool. A does not like Blue Star. E is not an immediate
neighbour of H. C sits on the immediate right of the person who likes Blue Star. Neither A nor H likes Onida or
a Samsung. The person who likes Onida is not an immediate neighbour of the person who likes Whirlpool.
The person who likes Daikin sits second to the left of E. The person who likes Daikin is an immediate
neighbour of the both persons who like Panasonic and Voltas. Person who likes Voltas sits third to the right of
B. B does not like Onida. F is not an immediate neighbour of A. G is not an immediate neighbour of the
person who likes Daikin. Only two people sit between the person who likes Voltas and H. The persons who
like Onida and the Samsung are immediate neighbours of each other.

Who among the following sits on the immediate right of A?

A)D B)H
C)G D)B
Answer Key : A Your Response : Not Answered

SSC Adda247 Engineers Addaa47
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TS ASH Th TACHRT W @37 ¢ 3N el Uy ¥ AT 3:45 FT FHY q@T g1 6 el g§ g fr K T
el ¢ AR Aere arelr g afveer Ar 0 Fedr 1 s few foem & 3R o R @3 @2

A)afaroT gd B)q&

C)3eX D)af&ior e

A boy is standing at a platform and sees his watch showing 3:45 PM. The hour hand points east and the
minute hand points west. Which direction the boy is facing now?

A)South east B)East
C)North D)South west
Answer Key : C Your Response : D (Wrong)

Question No. 87
OIS F AT S AT GET WAt WYY acd HheT AT 82
A) 3iTererster B) 3R
C)vegsieras D)faforeisT

The second most abundant element in the earth’s crust is-

A)Oxygen B)lron
C)Aluminium D)Silicon
Answer Key : D Your Response : B (Wrong)

Question No. 88

A Foit TAT F Al & ¥ F FFw Fwalt 1 39T BRar Ser @, S oggier e aeh § 3R 3%

fdser & fav sugeT qardh g2
A)SRTeT B)a&fera
C)faforist D)AwIsT

Which material is used as a moderator in a nuclear power plant that slows down the neutrons and makes
them fit for causing fission?

A)Boron B)Beryllium
C)Silicon D)Graphite
Answer Key : D Your Response : D (Correct)

Question No. 89

gfe 'THRASH' &I 'UGSZTG' for@r Jrar &, o 'HEAD' &I & for@r sdem?
A)IDBC B)IECD
C)GDZC D)GDBC

If THRASH ' is coded as 'UGSZTG', how will 'HEAD' be coded?

A)IDBC B)IECD
C)GDzC D)GDBC
Answer Key : A Your Response : A (Correct)

Question No. 90

WA AT fo5:+1046 +4/25-10/6
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55 215
0) D)
50 2.5

Simplify: \/25+106 ++/25-10/6

A) B)
N5h] 2.f15
C) D)
50 2.5
Answer Key : B Your Response : C (Wrong)

Question No. 91

fearfaf@a Soft & 3R & soa W = 1 F

Bz, DV, ES, HN, JJ
A)ES B)BZ
C)HN D)JJ

Find the wrong group of alphabets in the following series.

BZ, DV, ES, HN, JJ

A)ES B)BZ
C)HN D)JJ
Answer Key : A Your Response : A (Correct)
Question No. 92 .
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Sofr & qub ¥

1, 3, 7, 15, 31, (.)
A)127 B)63
C)47 D)39

Complete the series.

1,3,7, 15,31, (...)

A)127 B)63
C)47 D)39
Answer Key : B Your Response : B (Correct)

Question No. 93

fArfaf@a 7 ¥ =i @ 3R, T RfFa 33ReE fr saiufa 7 Tawfa adt & gsgeeeor &

39T T ST &7
A)ufaramas ifafsar B)JaTcA® 3TTRTHar
C)3ftareianor 3ifRfhar D)faeamger rfafRar

Which of the following reactions is commonly used in the hydrogenation of vegetable oils using a nickel

catalyst?

A)Substitution reaction B)Addition reaction
C)Oxidation reaction D)Displacement reaction
Answer Key : B Your Response : Not Answered

Question No. 94
I FF arg A FAT LE B § AR Ff feper sh afor a7 @), & v gar 87
A)aE] Fe TET Teh el | B)a¥q oid & STl gl
C)a¥d $& THY dlg T ST &l D)a¥q 35+ 9Tl gl

If an object starts moving and if there is no friction at all, what happens?

A)The object can never stop B)The object stops immediately
C)The object stops after sometime D)The object starts flying
Answer Key : A Your Response : A (Correct)

Question No. 95
AR G & Pfaf@a F @ #iT a1 anr Feanfa veat ¥ defta 82
INE YT B)#tmer VI
C)#mT IV D)smeT IX

SSC Awlgka2#4hé following parts of Constitution is associated with the Union territories? Engineers Addag47
A)Part VIII B)Part VI
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C)Part IV D)Part IX
Answer Key : A Your Response : C (Wrong)

Question No. 96
o Feree W 10% T & W 3 a¥ & Tehqfe sIreT 3N FUROT ST HT I} $.620 grem?
A)%.24000 B)%.25000
C)%.20000 D)%.18000

On what principal will the difference between Compound Interest and Simple Interest at 10% rate in 3 years
be equal to Rs.620?

A)Rs.24000 B)Rs.25000
C)Rs.20000 D)Rs.18000
Answer Key : C Your Response : Not Answered

Question No. 97

Waﬁramamﬁw,wa:ﬁammwwﬁmaﬂ#qgam%l AT PRI dF

Tga ¥ 30 fraer e aeTe €2
A)60 AT B)30 fAwc
C)42 faeTe D)45 faee

Travelling at 3/4 of the normal speed, a person reaches his workplace 15 minutes late. How many minutes
does he take usually to reach the workplace?

A)60 minutes B)30 minutes
C)42 minutes D)45 minutes
Answer Key : D Your Response : B (Wrong)

Question No. 98

3H FPG & Iua w, S REaliag A F fe & gEy &
FafeaH o1 ¥ T ST 2l
Heatl, 3T, o, arar
A) B)
C) D)
w -

Choose the figure that best represents the relationship among the
classes given below.
Vegetable, Woman, Lion, Parrot
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Answer Key : C Your Response : C (Correct)

Question No. 99

derssw 3R viFeAEsw #r i g SIrar gl
A)3fsa A B)"THI ded
C)3MTdRe HHAUT ded D)HHHIT ded

Lanthanides and actinides are also called

A)Noble gases B)Normal elements
C)lnner transition elements D)Transition elements
Answer Key : C Your Response : D (Wrong)

Question No. 100

420 T 4/7ar TeEET, 200 & 3/58 BEY ¥ frger 310+ &2
A)80 B)60
C)120 D)90

By how much is four-sevenths of 420 exceeds three-fifths of 200?

A)80 B)60
C)120 D)90
Answer Key : C Your Response : C (Correct)
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